Efficiency vs dr

[ fake+duplicates vs AR |

1

x 0.02p x 1 TSI
< o < B "
@.018f- e [
s ° L

(] L L
®.014F a |
®.012f g

: : = 0.6_—

0.01F 3 |

C -cil—) L
0.008:— E 0.4_—
0.006F I
0.004F 0.2
0.002F L
(@] G- ) 10
= [ | —— DQM_mkFit_TT_retrain-lowpt
e - DQM_mkFit_TTold-lowpt
b : ook gl MiH i
107 = 1 107 1072 107 _
TP min AR track min AR

[ Efficiency vs dr (track,jet) |

§0.01

00.009
=
%).008
9.007
>
#.006
o
jS=E).005
)
0.004
0.003
0.002
0.001

Ratio

+0

1.2

1.0

1_

=
o

1
w

1072 107
AR(TP, jet)

Efficiency vs pu

50.02

i F
9.018F
P.016F
(] r
®.014F
t -
9.012F
0.01E
0.008E
0.006F
0.004F
0.002F

Ratio

0

................................................

................................................

...............................................

1.2F

1.4F

.......

SEE 3

- -

90 100
Pileup

30 40 50 60 70 80

[ fake+duplicates vs AR(track, jet) |

= 0.5p
o E
+ 0.45F
8 .4F
= 0.4
X E
< 0.35F
2 E
o 0.3:—
€o.25F
7, E
<] o
< 0.2F
] E
20.15F
© o
3 0.1
X E
£0.05F
o «0F
g
@ r
1_— """"""
0.95:3 Ll
10 107 1
AR(track, jet)
[ fake+duplicates vs PU |
R R T po

0.8

0.6

take+duplicates rate vs PU

0.4
0.2
o wopebi b Lo
5 F ] t
| LI EAER
E T
e LA ST
20 30 40 50 60 70 80 90 100

Pileup

-1



	Contents
	Page 1


